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Candle Center - Infinite Geometry

Review of Equations

Solve each equation.

1)  3n + 4n = −14

3) −24 = 5r + 3r

5) −36 = 6(2 − 8n)

7) −14 = −(−2x + 2)

9) 7(1 + 5n) + 6(1 + 4n) = 13

11) −6(3 − 3a) − 8(6a + 5) = 32

13) 6x − 2x + 8 = x + 5 14)
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Candle Center - Infinite Geometry

Review of Equations

Solve each equation.

1)  3n + 4n = −14

{−2}

2) 9 = 

 

−7

  

m

 

 + 1 − 6

{−2}

3) −24 = 

 

5

  

r

 

 + 3

  

r

 

{−3}

4)

 

−6

  

x

 

 − 6

  

x

 

 = 12

{−1}

5) −36 = 

 

6(

 

2 − 8

  

n

 

)

{1}

6)

 

−6 + 

 

5(

 

−1 − 

  

b

 

) = 19

{−6}

7) −14 = 

 

−(

 

−2

  

x

 

 + 2)

{−6}

8) 51 = 

  

7(

 

−1 + 2

  

v

 

) + 2

{4}
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) + 
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) = 13

{0}

10) 73 = 
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 + 5)

No solution.

11)

  

−6(

 

3 − 3

  

a

 

) − 

 

8(

 

6
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 + 5) = 32

{−3}

12)
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 = 
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 − 3 − 6

{ All real numbers. }

13)
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{−1}

14)

 

4

  

n

 

 + 5

  

n

 

 + 15 = 

 

5

  

n

 

 + 7

  

n

 

{5}

-1-



©K e2S0Q1E1W VKUuPtRaU wSkojfRthwRawr2eA HLxLVCJ.m v dAnlAlw hrmijgbhVtrsW trzeksJeJrBvberdw.3 F VMGaqdTe8 9wEijtahg IIOnNf0iHn8iTtBes oGueroGm3eEtJrQy1.M Worksheet by Kuta Software LLC

15)  

 

4

  

m

 

 + 3 = 

 

13 − 

   

m

 

{2}

16)

  

5

  

p

 

 + 5 = 

 

4 + 4

  

p

 

{−1}

17)

 

8 + 6

  

x

 

 = 

 

8 + 8

  

x

 

 + 7 + 3

{−5}

18)

  

−5

  

b

 

 + 24 = 

  

−8(

   

b

 

 − 6) + 6

  

b

 

{−8}

19)

 

3(

 

7

  

r

 

 − 7) = 

 

−6 + 

 

6

  

r

 

{1}

20)

  

−(

 

1 − 5

  

x

 

) + 8 = 

 

−17 + 

 

2

  

x

 

{−8}
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22)
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No solution.
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